Resuelva cada operacion y escribe el resultado en el cuadrado:
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Resuelva cada operacion y escribe el resultado en el cuadrado:
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BE 20 x2 |—
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Resuelva cada operacion y escribe el resultado en el cuadrado:
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\
ore™ iy

A“g\i\‘)n‘




Resuelva cada operacion y escribe el resultado en el cuadrado:
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BE 30 x4 f—
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Resuelva cada operacion y escribe el resultado en el cuadrado:
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| /6 42 x5 |——

(2]

\
ore™ iy

A“g\i\‘)n‘




Resuelva cada operacion y escribe el resultado en el cuadrado:
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BE 24 x6 |——
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Resuelva cada operacion y escribe el resultado en el cuadrado:
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| /4 36 x10 f——
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Resuelva cada operacion y escribe el resultado en el cuadrado:
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Resuelva cada operacion y escribe el resultado en el cuadrado:
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BE 63 x4 f—
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